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(Soguas JSigy 9+b)NIPT Lgaw oM

1)  Combined test: risk of trisomy 1/11 -1/250
2) NT: 95 - 99 percentile
3)  Age>40
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1) Combined test:

a)risk of trisomy>0.1
b)papp-A<0.26 MOM

2)NT>3.5

3)NT>99 percentile
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Full integrated test

Cut off:1/100
DR:85%

FPR:1%

High efficiency
Fetal loss:9/100000

Cut off:1/250
DR:90%
FPR:5%




Stepwise sequential test

» First trimester: cut off 1/50 >>>>>>>CVS or NIPT?

» Second trimester: cut off 1/110 >>>>>>>amniocentesis or NIPT?

» DR:86%
» FPR:1-2%




Combined test(only)

» Cut off:1/300
» DR:80-84%
» FPR:5%

Q test

e Cut off:1/250 - 1/300
e DR:61-70%
 FPR:5%

CT+QT

« DR:98%
e FPR:17%
* Fetal loss:45/100000




Contingent test

» Risk of T21

» >1/150: HIGH RISK
» 1/150-1/1000 : MOD RISK
» <1/1000: LOW RISK
» DR:91%

» FPR:4.5%




NIPT(Cff-DNA)
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